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4.

Who discovered Rh factor?
(A) James Watson
M Landsteiner Carl

Rh sryenfl wrgmed sawr_dlwiiu’ L g?
(A) Cgbei eum_ge

(C) ameevenL_eom &ired

(B)
D)

(B)
D)

" GET IT ON
Google Play

Robert Hook
William Harvey

grUM. @n™&

efl@wellwib anmired

Which of the following is male accessory reproductive glands in mammals?

(A) Gastric gland

(97" Prostate gland

(B)
D)

Mushroom shaped gland
Inguinal gland

Sipsam_eupBled Lrgn i uller e GeaniQumes seenr sTUSWLINTEG @MULIS 6T5I?

(A)  smevlM& sy
(C) UGrmavCGLL &rud

(B)
@)

Haemoglobin, haemocyanin, serum, albumin are

(A) regulatory

OGNV EHLD Gulgeu &JUILS

Ben@ane &yid

type of proteins.

27 transport

(C) storage (D) protective
afGur@Germien, afGoramsweaflar, &b, 2ydLbler 2dluama - QUGNE L|THLD.
(A sLUuUBSSID “(B) &sggw
(C) Cabsg meaus@Eid D) urgsriLei&ED
IUCN headquarters is at
\M Morges, Switzerland (B) Paris, France
(C) Vienna, Australia (D) New York, USA
@. .8 eran. FamevenoudLb amm;b@@uug
(A)  wrirQgev, sefl_sirenbsl B) unrflev, Gyrerev
(C)  eflwenenm, e0HCreSlwim D) Puwris, uj.eTev.6).
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5.

.

Exhibition of superiority by a hybrid over both of its parents is called
\(}/ Heterosis (B) Hybridization
(C) Hypostatis (D) Recessive

- QupCprit seveapepenws efl Hls 2 wite uarysmert Qupm sliGar 2 uifl eamiu@eug -

A)  seuy eiflwb (B) seulensrsead
(©)  manuGurevLrélev (D) e@Oms saremw

First time the container train service between India and Bangladesh starts on

A) 3.2.18 (B) 3.3.18

(€) 5.4.18 Of 3.4.18

@pdur-eunsGsad @l Gu apsanapenIns s L wierT @ﬁuﬁ]s‘o Ceaneusanar @ L b erliGumpg

Qam_rmidluig?
A) 3.2.18 (B) 3.3.18
(©) 5.4.18 (D) 3.4.18

Polymerization of which one of the following monomers produces a synthetic rubber?

M 1, 3-butadiene

(B)  Acrylonitrile
(C) Vinyl chloride
(D) Propylene

G&u.:.;i)ms guuT wrflésis um&u@@gﬂu@tb Gw'rrGemrmr'r 6Tl ?
A) 13-y meulen

B) <sMCareml ey

(C) demener @Cerreny(®

D) ypiSefer

AOEGS/18 ' 4 L 4
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> B, Which of the following rocks is different from the remaining three on the basis of its mode of
origin? '
(A) Limestone : \MMarble
(C) Sandstone (D) Shale

Geareumeuanaupmer ehs s utep CsmHp eums smreaRTons WLHDH APID CuMSSHTE (HH)

Coaupu®@mg?
(A) samenssD : B) uveling
(C) wempHse A (D) sefliuren

9. Which day the Clean Sea-2017 was conducted by the Indian Coast Guard?
(A)  29% December 2017 (B) 28" November 2017
(C) 29 November 2017 W 30t November 2017

- “agglonen L& 20177 erenp LulpHeow erps Hrefledr @bHw sL_Cery sreud L Qeligs)?
(A) 29 g&bur 2017 ' (B) 28 mpeubuir 2017
(C) 29 paubuir 2017 (D) 30 paubuii 2017

10.  Which scheme is launched for the simplified and transparent administration of registration
department in Tamil Nadu?

(A) STAR 10 (B) STAR 3.0
(C) STAR1 PP STAR 2.0

sllpssde udassemp snnfe o BaurssLUL(eer aeflawwrar LHYL Ceuaflliuewires
Bireursid g iuenulleomer FL1b org?

(A) evmrl.0 B) evmr3.0

(C) oevmrl D) evm2.0

11.  Which year, the first Radio programme was broadcast by the Radio Club of Bombay?
&) 1920 B~ 1923
C) 1925 D) 1927

ubumi eurQenmedl et seag WD GellliLTlieny) gleumnidu e[
(a) 1920 (B) 1923
(© 1925 D) 1927

L 4 5 AOEGS/18
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13.

14.

Which of the following are the geographical landmarks?
(1) Grand Canyon National Park
(i1) Mount Rainer National Park
(111)  Delvis Tower
(iv) , Panner Sultan Park :
\(/ (1), (ii) and (iii) are correct (B) (1), (i1) and (iv) are correct

(C) (1), (11) and (iv) are correct (D) (i), (i1i) and (iv) are correct

&Gy Qar@asiiuLeupile erenau Lefufwed Hleo SjenLwirariiser?

(1) &Cren_ semumer Codluwt masm

(i)  Quererr Crient Cadlw LmisT

(i) QLevellev Laufr

(iv)  uenenit Hegmen Ly BT

A) @), Gi) womwb (i) sflurereneu (B) (), (i) womid (1v) sflwrereneu
©) (), (ii) wpmd (iv) sflwurerenay (D) (1), (iii) wHmb (1v) sflwrearena

Who is the Chief Minister of Tamilnadu during the period May 2015?
(1) Thiru. O. Panner Selvam

(1)  Thiru. Edappadi K. Palanisamy

(i)  Selvi. J. Jeyalalitha

(iv)  Governor Rule )

(A) () only & (i) and Gid)

(©) () and (i) (D) (i) only

G 2015 srevsl L8 s18ps wpedaurms ugel adlgses wmi?
(6)) Am. O. uenafiT@edeutd

(i1) | . er_iumg K. upaflems

(i) Geael. Qg AnuadsT

(iv) seianm L d

(A) () b @b (B) (@) wpmbd (iii)

©) () wpgd (ii) D) (i) B

The Widow Remarriage Act was passed in the year .
g~ 1856 B) 1857 | .

(C) 1858 (D) 1859

eflgencu LomioewTd FL b eriCUITg @whmriL L g?
(A) 1856 (B) 1857
(C) 1858 (D) 1859

AOEGS/18 6 ‘ *
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15. Match Li_st I with List II and select the correct answer.

List I List II
(a) Pabna movement 1. Maharastra
(b) Moplah rebellion 2. East Bengal
(¢) Deccan riots 3. Gujarat
(d) Bardoli movement 4. Malabar

(a) (b) (c) (d)

2 4 1 3
B) 2 4 3 1
) 4 3 2 1
D) 3 2 1 4
utigue I o e uligue I-g Qurmsd, sflwurer elen_amws Coib0sHEseab.
‘ uigwed I . U igwed IT '
(a) uwmbem @Qu&sd [ 11 LOSTFTEGL T
(b) wrleTT sOSLD 2. SP&(E eUBISTETLD
() soaTET HOHD 3. GRS
(d) wiGsred @uidsid 4. LOEUITTT
(a) (b) (c) (d)
Aa 2 4 1 3
B 2 4 3 1
< 4 3 2 1
D) 3 2 1 4
16.  Who founded the Amrita Bazar Patrika? ,
M’ Sisirkumar Ghosh (B) Rabindranath Tagore
(C) Harish chandra Ghosh (D) S.N. Banarji

<bfgr ugnt usdHfsmaamw Hlpedlweu wri?
A) Afigort Camey B) @uainHrnTs et
(©) anflev sndly Carey (D) S.N. urenig

17.  Who described Bal Gangadhar Tilak as the ‘Father of Indian Unrest’?
\M Valentine Chirol (B) Disraeli
(C)  Minto-1I - (D) Chelmsford

uresksTsr Hosor QS Sowdulamowlen shas aeam emaisgeauir wmi?
(A) Ceuaeneni_ei GCymed B) 1gevGredl
(C) ] WewrGLm—I1 : _ (D) QawevCGumiT@h

* 7 ¢ AOEGS/18
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18.

19,

Match the following and choose the correct answer using codes given below.

Scheme -~ Year
(a) Indira Awas Yojana 1. 2003
(b) National Social Assistance Programme 2. 2009
(e) National Rural Drinking Water Programme 3. 1995
(d) Nirmal Gram Puraskar 4. 1985

«((a) (b) (©) (d)
4 3 2 1

@ . 1 2 3 4
C 3 4 1 2
D) 2 1 3 4
Spasar_cupern GOy erug Qurmsd sflwurer dllenLamw Csie) Qelis.

L1 @U(HLLD
(a) @pdrr Heaerey eSHE._HD HL b 1. 2003
(b) Csflusaps 2 5605 HiLb 2. 2009
() Csélw sas Gug b eupmi@bd S b 3. 1996
(d) Csolw Agmw ssrgry S b 4. 1985

(a) (b) (©) (d)

A) 4 3 2 1
®) 1 2 3 4
(o) 4 1 2
D) 2 1 3 4

According to Article I of the Indian Constitution, the territory of India can be classified into
(A)  Territories of the States

(B)  Union territories .

(C) Territories that may be acquired by Government of India at anytime

M Territories of the States, Union territories and territories that may be acquired by

Government of India at any time

@hHu srflueemwviy sl el geandler Ly @bHw Flouriiy aaany amyunssiul Herers.
A oo Srsser

B)  welwer AyCerser

©) @pdw ssmisssrd Houuriy ugdsd abs Crrsdaib CsrésiLiLmbd

D) wvrfle ersser, gaﬂumn GpCgemadr wpmd @pIu psmusssre Boluriy aps
Crrsdaub CardsliuiLamb

AOEGS/18 8 ¢



Adda2) ‘

20. Which one of the following is a Government Scheme for the benefit of women in difficult
circumstances?

(A) Indira Gandhi Matriva Sahyog Yojana
\M Swadar

(C)  Priyadarshini

(D) Sabla

Sipssam_aiphled Apmasiwrar @pHaauld Gnésh waellpésns AararBariulL S Lo ag?
A)  @pdyr arpd wrsfeur s&Cwrs Guimgent ‘

B) eveugmi '

©) YGNwugiafenf

(D) smaer

9%.  Which one of the following is NOT true in case of National Emergency?

(A) It is imposed either in the whole country or only a part of it is threatened by war or
armed rebellion

(B) It has drastic effects not only on the fundamental rights, but also the centre-state
relations

\QO( It suspends the government and ordinary law courts
(D) It has specific and detailed provision in the constitution

Spssar_auphe Csflu Apmssy. Hae Asmiunaeabile ergl 2 e SenL_wing?

A) @ndwur @@mwé@m‘a{éoeog @i LEH&EE AewouBFsLLHEDS

B) @& gl 2 fmbwamar L HWO®, LSSL-LTH 2 DesEETL|LD und&smg)
(C)  @ipsmisd wHmIb e BHoapismer sHaETElELNS GFLOLIL MO 2 EGHDG
D) @s Osriurs srdluempinbs GAUGLL Hpib eiflairer oibskiser 2 dreng)

22. Who wrote the book “The Indian Constitution, Corner stone of a Nation™?

W Granville Austin (B) K.C. Wheare
(C)  Paul Appleby (D) Harold Laski

“@Qpdw sirfluamolil] : Cassdlen epamadae” eTan HIee erpdwieuit wmi?
(A)  dygremeiled yevig e B) K.C.alwr
(C) umed s nGerenL (D) Qangre® mevd

L 4 ' 9 AOEGS/18
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24.

Consider the following statements. ‘
Statement I . The anti-Indian policy of Lord Curzon was greatly responsible for the
rise of extremists.
Statement II : The partition of Bengal added fuel to fire.
Which statement is/are correct?
(A) Ionly %oth Iand II :

(C) II only (D) Neither I nor II

Spsaa cursSunisamen seaue.

smpg 1 sitsan Gryefen @QpHunelng edyren Qandresser Selgaundaafien orpsfléw
smyemromudlmhm).

ameg Il eisrarl Gfleleer erfluyb Sufléd erem@lewnis eerbluig Cuméd uuimhm.

@eupled argi/eraneu &fl?
A) TwlEbd B) T wpmwll
(€ IIwlEd (D) I-b@Geea II-b Qaema

Which one of the following is not correctly matched?

i % Sabarmadi Ashram - ,19176
I1. Champarap Satyagraha - 1918
IIT. Rowlatt Act - 1919

IV.  Non Co-operation Movement 1920

A I \ﬂ( IT

(©) II; : D) IV

Epsaa smphmisEnar erg sflurs Qunmbseldamen?

L. sumbdl yevrDd - 1916
1 % gumyren ssHUndlsid — 1918
III. Qperel_ &L 1b - 1919
IV.  slLwgiyQuéstd . - 1920
@ I B) II
(© I D) Iv

AOEGS/18 ' 10 *
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25. The Regulating Act of 1773 was passed by whom? :
(A) Lord William Bentinck (B) Lord Macaulay
M Lord North y (D) Lord Hastings

1773 b par® @UHGeD s_L b wrred HlepGappriuilLg?
(A)  efléedlwib Querigm Sy (B) QussrGe Gy
(C) prigQyy D) Gaevirised Gy

26.  The tools of fiscal policy of India
(A) Public Revenue and Public Debt.
(B) Public Eipenditure and Public Debt. ,
\(P” Public Revenue, Public Expenditure and Public Debt.
(D) Public Expenditure only :

@pHw HHs Qsrarensufien smellser wreneu?

(A)  Qung eumeumis HYID QLTSS S

(B) - Qungé Geeey Hmib CLTg&eL e

(C) Qurg eumaumiy, QurgFdFoey LHYD LGS HL e
D) Qumgs Deeea] L (HO

27. Who is the Governor of Reserve Bank of India?
(A) Mr. Raguram Shri Rajan
(B) Mr. Y.V. Reddy

@™ Mr. Urjit Patel
(D) Mr. Bimal Jalan

Qi wsHw eundlufen sauienT wWMT?
(A) Mr. ggymb b prggen

(B) Mr. Y.V.Qrilyg

(C) Mr. camgl L GLed

(D)  Mr. Sweé geomen |

@ ~ 11 ‘ AOEGS/18
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28.

29.

The first Ryotwari settlement was made in ————— in the year
W Madrasin 1972 ‘ (B) Agrain 1970

(C) Bengal in 1971 (D) Mumbai in 1969

" 5@ quauril Gel oG ahig ruGurg SleumsliuLLg?

(A) Qsemenamruier 19726 (B) <ypamgmefled 19706
(C) amsragded 19716 (D) apeuuie 19696

Match the names of the Chairman in List I with the ﬁnance commission in List II
List I List IT

(a) Nand Kishore Singh

(b) Vijay L. Kelhar

(¢) C. Rangarajan

(d) Y. Venugopal Reddy

14t Finance Commission
12t Finance Commission

15t Finance Commission

e 50

13% Finance Commission

(a) (b) (© (d)

A 2 3 4 1

B) 3 2 4 1

©) 4 3 2 14
3 4 2 1

utgwe I-é Qmésd sooaisela Guuismar ulgwud -6 @ms@h HHs GussCarm(®
Qursd sfiwurer efler_ws CoipASEH :

U igwied I ul'.q@d) 3l .
(@) mps HCagmit Ak 1. ldaug Hds o
(b) eflgul ered. Gacbamit 2. 12aug Hds @
(© 8. grasyrgen 3.  1Seug s G
(d) @u. CougnCsmumre Qi 4.  13eug HHs G

(a) (b) (c) (d)

@a 2- 3 4 1
B) 3 2 4 1
C) 4 3 2 1
M) 3 4 2 1

AOEGS/18 12 | @
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30. A train 130 m long is moving at a speed of 65 km per hour. How long it will take to pass an

electric pole

\M 7.2 seconds (B) 6.8 seconds
(C) 8.9 seconds (D) 6.3 seconds

130 8 Berapanw @@ @O Gruider Caist, warlléE 65 &.65 aafld, e Wanasry sbusSlemen &L&s

=18 T(HS55E Aamer@nd Coyn wrg?
(A) 7.2 eflearmg.ser (B) 6.8 aflenmigser
(C) 8.9 eflarmig ser ' D) 6.3 emgser

31. In an examination out of 480 students, 85% of the girls and 70% of the boys are passed. How
many boys appeared in the examination, if total pass percentage was 75% C

& 320 B) 340
(©) |

360 D) 370

480 GumsE BpLEsiLLL Gsialed Querseiio 85%qpid, pamaaties 70%apd Carédl Quppen.
@ouranmd Csisg 75% Gsiéd Aupp Heoaude Csieay epdu Qurgs yamsaflen araranflsms

GreueUeTeY? .
@A) 320 : (B) 340
(©) 360 : (D) 370

32.  The sum of two numbers is 216 and their H.C.F. is 27. The numbers are

W 27, 189 (B) 81,189

(C) 108, 108 » ' (D) 154, 162

@ craraefian s 216 wHmid siger 5.AuT.eu 27 erafle), ibs eTERT 6T
(A) 27,189 (B) 81,189
(C) 108, 108 (D) 154, 162

* 13 AOEGS/18
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33.

34.

35.

Find the compound interest on Rs. 8,000 at 15% per annum for 2 years 4 months,
compounded annually.
(4) 3110 @/ 3109
(C) 3106 (D) 3108
. 8,000-6@ pamenE 15% ey dssdd 2 oyam® wHph 4 wrssdpatear s () QUL igenul
sa s ([Hs.
(A) 3110 (B) 3109
(C) 3106 (D) 3108
Find out the wrong number in the series
190, 166, 145, 128, 112, 100, 91
@) 100 ’ (B) 166
© 145 2 128
Gsr@asliul L Agm_fé Simwhs Seuprear crarrameins smams.
190, 166, 145, 128, 112, .100, 91
(A) 100 B) 166
(C) 145 (D) 128
A can do a piece of work in 10 days. B can do it in 15 days. How much does each of them get
if they finish the work and earn Rs. 1,500? ,
(A) Rs. 700, Rs. 800 (B) Rs. 500, Rs. 1,000
& Rs. 600, Rs. 900 (D) Rs. 800, Rs. 700

A @ Caumaow 10 priseigin, B oms 15 prisafigid, Gelig wrlur. Qmaumbd Csipg)
SlauGaumamws dawig . 1,500 miiyame, 2i50smamsamu ereueumm 9M&gE Qarareur?

(A) e 700, ¢m. 800 (B) m. 500, en. 1,000

(©) . 600, . 900 (D) em. 800, em. 700

AOEGS/18 14 : TS
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36.

317.

38.

GET IT ON
Google Play

H.C.F. of two numbers is 8. Which one of the following can never be their L.C.M?
A 24 (B) 48
©) 56 P 60
@ cansaian B.0ure 8 aafld Spssamapper g SibHS gansefler 8.0um s QMHES
Quieng?
(A) 24 (B) 48
(C) 56 (D) 60
The H.C.F. of 2% x32 x5° x7, 2°x3%x52x7* and 3x5x7x11 is
W™ 105 B) 1155
(C) 2310 D) 27720 I
24 %32 x5 x7, 29 x3%x5%xT7% wpgd 3x5xTx11 -er BUGU ALY
A) 105 B) 1155 .
(C) 2310 (D) 27720
: X ' T IR A | 1
The smallest fraction which should be subtracted from the sum of IZ’ 25, 5—1—5, 3§ and 22
to make the result a whole number is
5} )
N/a T B) 3
1
) = 12 Ny
2
Y B L e ¢ e A S8 s o : - A
IZ’ 25, 51—2, 35 LO{HMILD 22 arenp Weanamisafian sl Bd QsTms @B PP CTENETTES SenL &8
aps BssdPlu Geanarsmss sflés CouamBo
5 . 7
A — fLE
il 12 ®) 12
1
©) = D 7
2
15 AOEGS/18
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39.  Ifx% of y is equal to z, Then what percent of z is x?

2

) b
75 el AL B
(A) 100 (B) 00
100 100
© 22 o
y Y
y-an x% sgeigoneng) i@ swibd erafle) X eranLg) 2-6 aTHFMaT 556SHD?
2
A Y J
@ 100 | ® o
100 100
(©) == D)
y : y

40. Volume of the cube = ———— cubic units.

@) o’ - (B) 24
© 3a® M a’
&1 SFITSIEN EE DT = ——————— S QGG
@& o A B) 2a?
(© 8d* ®) a°

v

41. For a triangle ABC , the true statement is
(A) AC?=AB?+BC? B) AC=AB+BC
(C) AC>AB+BC P’ AC<AB+BC

w&Caremmd ABC e erg) 2 a@menio aumaiwid erand sa)
(A) AC?=AB’+BC? (B) AC=AB+BC
(C) AC>AB+BC (D) AC<AB+BC
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42.

43.

44.

Two taps can fill a tank in 30 minutes and 40 minutes. Another tap can empty it in
24 minutes. If the tank is empty and all the three taps are kept open, in how much time the
tank will be filled?

\(Af 1 hour (B) 2 hour

(C) 3 hour (D) 4 hour

em Gsm_yew @ Grnise salssaiCu weapGu 30 Al tisdr, 40 il kisafie Hyoydnsg.
wH@prm Gemi Bi HroGu Gsmgew 24 Al kisafd sre Qeuuw. Agry srdlurs Qmbs
@apenn GmisEsb @Cr sowsHe Hppbe Sl Ll L, asgsmen waflCrsdd Hlpbyw?

(A) 1 we=fl (B) 2we=f

© 3wef D) 4 wasfl

An ester used as medicine is
(A) ethyl acetate : M methyl salicylate

_(C)  ethyl benzoate (D) methyl benzoate

DGHSTELI LWL GTEVLIT
A asde ACLL ‘ (B) Guwsde srelifiGar
©) esfe QueanGerGui : D) QusfHe QuenGarGuil

Which organic compounds polymerize to form the polyester Dacron?
(A) Propylene and ethylene glycol
(B) Terethalic acid and ethylene glycol
(C) Benzoic acid and ethanol
@)/’ Dimethyl terephalate and ethylene glycol

e seflng Gaimob ueugTEsIUTH ALsrTer urelevL it feoL&pg)?
(A) yruleler wHmib erdHleSan HenersaTa

B) Qufgredls sufleb wHHID rsHeSen enerssmed

(©) Quensmuis sbled LHHID eTSSENTED

(D) cm_ngﬂw QuAunrGeL_ Hmitd eréHleSer Qa)arurra)

17 AOEGS/18
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45.

46.

47.

The fertilizer which is called as ‘nitrolim’ is
(A)  Super phosphate (B) Calcium ammonium nitrate
\ﬂ( Calcium cyanaxﬁide (D) Sodium nitrate

‘pLCrrellb’ eremmenLp&sLiLI(Hid 251
A) @uuirureGul (B) sréoflwd obCureflwb epl Gyl .

©) sroflub swearewn(® (D) Gsmgwibd mml'_Gm'_'

What type of mirror is used in solar cookers?
(A) Plane mirror (B) Convex mirror

w Concave mirror (D) Bifocal mirror

aTH cumSLITET S lq.&em CemenT Gasraafled LweaLBSSILGEDS?
(A)  swger by B) @e g
© e e D) Q6 wsiy s

Why the wings of an aeroplane are shaped with lower surface being flat and the upper
surface being curved?

(A) to reduce vibrations

\ﬂ( to make difference in pressure to lift the plane verticaﬂy
(C)  to accommodate more passenger in the wing
(D) to strengthen the wheel fitted in wings

eflorer @pémsudien SpLiLipliy swwrseb GuHUTLIL euemeTaTsaLd @muug gen?
A) efimus Gopss .

(B) LIPULL Si(Psssms e-am_rédl efloranseng CQepbus Qe

©) ofswre Lwafsmar @pamsseaie g

D) @némssaie QurBSSLILL Hetar siarsHbE adlemn Gorés

AOEGS/18 18 4
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48.

49.

50.

Where is ‘Vulcan City’ located?

(A) Cuba ' \6{ Canada

(C) USA (D) Mexico

‘QUESTEN BHETLD GTMhIE SEMDHSIETETS]?
A) Hwur B) sem
(©) =Qwhss gadhu prHser D) QwselCsT

Which of the following is known as ‘Selvas’?
(A) Mangrove forest
M Evergreen forest of Amazon

(C)  Deciduous forest
(D) Thorn forest

Speumeuaneaupmer ‘Qedeuren’ cranpenpdaiubeug ersi?
(A) wrEsmey Sr(H&eT

(B)  =Guwsren LE@WLTDTS ST(HEGET

(CZ Qaaw it srhHsar

D) epluysis srHser

The position of earth farthest from the sun is termed as
(A) Perihelion B7 Aphelion
(©) Solstice (D) Equinox

el @Nwefelmps Bas Greaaaid BmEEWD Heae Geueurm SiW&aULRSDS.

A) Quiabewer (B) siwabeSiwer
(C) & Hmuud (D) swusdITey

19
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51.  Which is not true of a prokaryotic cell?
(A) No mitotic cell division
(B)  DNA not associated with proteins in chromosomes
(C)  Typical cell orgénelles like mitochondria are absent
Membrane-bound nucleus
uGrGaflumiyé Qe Ghldg g e arew Gdama?
(A)  ewlLréley Qsd LGy HeoLwirg
B)  BFCImCGuwrCambsefe 1. eren.qr.-ayLan Yysw QevemtibdmLiLigldene
©)  ew Crsram Awr Guremn Qsd 2 muyseT @ muudoame
D) seauelame GYUULL 2 U &m
52.  The Cs pathway of CO: fixation was discovered by
(A) " Armon \@" Hatch and Slack
(©) Calvin (D) Hill
CiaufigsL b gpeid sflwible eumy Beowfinsssme s bz
(A)  yirarmen (B) Capl&wpmib eveors
(©) sraeflen D) abe
53.  Find the correct statement/s :
L Signal molecule carries a message to the target cell.
II.  Target cell detects the signal molecules and receive the message.
(A) Iwrong II correct (B) Icorrect Il wrong
(C)  BothI and II wrong \@7T" Both I and II correct
#fluner spenp Cairey Qais :
L sllsams apassmpser, QsiiHenws Qoas QswsEnss adsgs Asodapar.
II. Qeag Qseser, sullsmasemer sam_flbg QswiHeaw Qupdemer.
@A) . 1gepllsh B) 111 sougy
©) T wpgdIT geugy D) I wpgwo I sh
AOEGS/18 20
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54.

55.

56.

57.

“She Means Business” programme for women entrgpreneurs launched in which state?
(A) Karnataka ' Odisha
(C) Kerala (D)  Tamil Nadu
“She Means Business” eremm Queir Ggmdled aﬁu@@;nm AL gens waupsHu wrhlew eg?
A)  sTBTLST (B) eflem
(C) Gasyerm D) sOpBrEH
This award is to honour eminent coaches who have successfully trained sports persons or
teams and enabled them to achieve outstanding results in international competitions
\M Dronacharya Award (B) Arjuna Award
(C)  Dhyan Chand Award (D) Rajiv Gandhi Khel Ratna Award
sirauCGss 2jarelled aﬂm&an@@ glapaatie) aSyirsefen apy efleerwm B3 Hpener Qeuafl &0 EmranT(Hid
Apps efleanun ® LIHHETTEEHEES SIBESTTD UPRIGLD auamsuié aupmsULIGHLD eSlmS!
A)  sCrremmésmiwm eflms) B) e 6flm)
(C) Hwren spg Mmz D) grgleuw snpH Caed pgenm Nl (HG!
India witnessed the Goods and Services Tax (GST) is introduced on
(A) 1%t June 2017 15t July 2017
(C) 5t July 2017 (D) 5% June 2017
@pHureler F76@ wHHLD Caaneu aufl (GST) SidlpsliuBSsUULL BTeT
A) 1,89er2017 (B) 1, 59me 2017
(C) 5,89 2017 _ (D) 5, 89an 2017
How much grant provided by India to Seychelles in the field of development assistance
during the year 20157 ;
(A) US $ 6.5 million &7 US $ 4.3 million
(C) US $ 3.6 million (D) US $ 1.2 million
., 2015 gy FOFLE @4 WTEES aueri&dl 2_gel HHwns QpEHwur aupidlu Qgrens ereuaiene,?
A) 6.5 Beoellwen 2Qwfés Lrei (B) 4.3 Bodwer 2@wfés Lrer
(C) 3.6 Beedlwen 2Quwfés L (D) 1.2 Beodlwen 2GwM&Es LreiT
21 _ AOEGS/18
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58. When did the ISRO launch the GSLV-F08 rocket with GSAT-6A satellite?
(A) 29 April 2018 & 29 March 2018
(C) 28 February 2018 (D) 29 January 2018

ereveraedl-er.108 praQsL epaib glen-6¢ QewpessGanamar QavCym QLTS gy wig?
(A) 29 gune 2018 (B) 29 wmi& 2018
(C) 28 Qugeufl 2018 (D) 29 gameuf 2018

59.  Which of the following oceans are connected by Panama Canal?
(A) Pacific and Indian Ocean
\M Pacific and Atlantic Ocean
(C) Atlantic and Indian Ocean
(D)  Atlantic and Artic Ocean

Sleleu(meuaTauDOIET LIGTMON STedauM ppaLd BaerrésiLHib Gu@rﬁ:é;l.cbs;e’ﬂ ereneu?
@A)  uvd9s wpmb QBHL QUG D

B)  udGE wHmID B eraTy s QUmHRISL®

©)  sleramgs whpb @bdHwu Qumks o

D)  Silerearys wHpD igs QuHRISD

60. How many players were participated in Boxing, 51 kg weight women’s category in 21t ‘
Commonwealth games at Australia? :

N ® 9 ' .

7
© 8 D) 6

2cvfCraflwmeiler penQuipp 21-eug) smoam@eues eflenemuim_ig v, 51 HGar GHgIsTen L QuaTEET
erenLi 19flefléd Quomgsid ergsenen Guit sevbg) QaTer_ami?

A 7 B) 9
€ 8 D) 6
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61.

62.

63.

64.

Which of the following country is not included in “Fragile Five™?
(A) Brazil (B) India
W Nepal (D) South Africa

Qemeumeuseupmier ‘wprLmar g’ (Fragile Five)-@é QuibGupms B egi?
(A) YGCrée § B @vdwur
(C) Cpumer (D) QgewenmindflésT
Name of the award which was awarded by Government of India in 2018 to Mrs. Lakshmi
Navaneetha Krishnan for her folk songs \
(A) Padma Bhushan \aaf Padma Sri
(C) Padma Vibhushan (D) Bharat Ratna
@Qbdu @psrisssTed 2018-2d @ Hmwd. @lss paubs SHmeyamren UTE G SN
BILBLYD LT OsE5é6Ts auphislLLL ellhg) rg)? ; :
(A)  usw ysen B) usgw b
(C)  usw eflysen (D) unys psenm
When was the policy “National Mineral Exploration Policy” launched?

July 2016 (B) dJune 2016
(C) August 2016 (D) May 2016
'Gru(Bung “Cgflu saflo piieys Aamdres” erem S LD 2 HOUMESILLLE?
A) gOame 2016 (B) g9ar2016
(©) yseav2016 D) Cuw2016
Who is the author of the book named “Red Birds"?
(A) Mr. Shyam Saran (B) Mr. Chetan Bhagat

Mr. Mohammed Hanif (D) Mr. Gulzar
“Red Birds” erenp mredlen p&fwi wir?
A) S eflwmb syewr (B) Hm. Colem uma
(C) A pswg aneils (D) Sy, @evsnt

23 A AOEGS/18
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63,

66.

67.

Who was the First Indian to preach the gospel of Swadeshi?
(A) Raja Ram Mohan Roy M Dayanand Saraswathi
(C) Ramakrishna Paramahamsa (D) Annie Besant

&Gzl dararansemw wpgaled 2 LCsHSs @b wri?

(A)  grggmymb Cuoraes Fmi : ; (B) swrenss syaveud
(C)  grwfimeyenr LFLADDET (D) yeraNQuaa_

Haroon Minar was built by Akbar in memory of his

(A) Wife (B) Son

(C) Horse \Qf Elephant
WL W Blenameurs anm et WeTTeny &uUiT &L g @mTi?

(A) wenarell (B) e

©C) ©GHeny (D) wrenen

Consider the following statement about Vallabhai Patel.
1 ¢ He organized no-tax campaign in Bardoli district.

2 He was arrested during the civil disobedience movement.

3. In 1946, he selected as Minister in charge of Home Affairs.

4, He died in 1952. .

Which of the statements given above is/are correct?

(A) 1land4 only correct (B) 1, 3 and 4 only correct
@f 1, 2 and 3 only correct (D) 1 and 2 only correct

au@euml uGLeeu upflu Spssar._ arsdurisamer seuafssab.
1. uiGgredl wreu L sfé auf@sr_r Qusssms pLsHeni. |
2. sLLbpuyY QussidlaGung emag Qaliwiul L.

3. 19466 2_ergienm Mevwaagrs Ggirey Aewiwiu_ L.

4. 1952-& Qauit Quip@s crisermic

erg)/ereneu &/ seumy?

A) 1 wpgbd 4 WG &M (B) 1, 3 whmid 4 w_@Hw s
©) 1, 2uwppw 3w @w s (D) 1 wHmbd 2w Hw &f

AOEGS/18 24 .
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68. By whom was the Aihole inscription composed?
(A)  Pulkesin II _ (B) Pulkesin I
W& Ravikirti i (D) Asoka

wCare sOGaL ML AFTGSSauT WTi?
A) ydGsH-II B) yiGas-1
(C) peil&isd (D) =Carai

69. Match the List-I (Shapes of viruses) with List-II (Examples) and choose the correct answer
' using the codes given below.

List-I List-II
¢ (a) Helical rod shaped
(b) Brick shaped ‘
(¢) Tadpole shaped
(d) Bullet shaped

(a) (b) (© (@)

Bacteriophage
Tobacco mosaic virus

Rabies virus

B s

Pox virus

Q) 2 1 3 4
@ 2 4 1 3

© 2 3 4 .

D) 3 1 2 4

U igwd-1 (eeupevaefien euiqumiSET) 2 L e Ut igwe I-g (egmamser) QurmSE, &G 2 emer
Q@198 HHg sflwrer eflenLmws Qzfley Qewis.

ulgue-I  ulguwe-TI
(a) &meT Qenp G aigauld 1. Guseflws@smae eneurav
(b) Qamse® eugeud ‘ 2. Lensufenel) LIeUaRTERTL) Li&6 eneu e
(¢) sl aigaild 3. Qaupmissiy eauren
(d) yeeLl euigeuld 4. S|LDEMLD MEUTEV
(a) (b) (©) (d)
A 2 1 3 4
B) 2 4 1 3
C 2 3 4 i
D) 3 1 2 4
L 2 25 | AOEGS/18
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70.

T

72.

How many recommendations were made by Ashok Mehta Committee report?

@A) 122 G 132

© 142 « D) 152

2(Gené Cogsr @ assmar LNbgamrsamer PaTmeusSs5g) ?
A 122 (B) 132
(C) 142 . (D) 152

The First Public Service Commission in India was set up in the year

W 192 (B) 1935
© 1947 (D) 1950

Qpdureiler apgen psars CaireuraearTiuih SeDESLILLL =)
(4) 1926 (B) 1935
(©) 1947 (D) 1950

Which among the following, forms a committee for recommending a chairperson of State
Human Rights Commission?

\Mf' Chief Minister, Speaker, Home Minister, Opposition Leader
(B)  Governor, Chief Minister, Home Minister, Opposition Lea&er
(C)  Chief Minister, High Court Judge, Opposition Leader
(D)  Chief Minister, Opposition Leader, Governor

Spssam_aupiled wrfle wealls 2 Nawsdr Spmarmugslen senaweuany Lfpgenr Qe G TFI?
(A)  pse@wss, sUTEMUST, 2 dTgI@D SIMWEST, adlisa g gamaeur

B)  <YEHp, so®wEs, 2 dgmD SmEsi, adliiéas g gepeeur

©)  wsoewss, e wigdivdn BHud, adlirés_ s seeur

D)  ppomwsst, adiss s sooa, Q,@;sr‘r

AOEGS/18 | 26 ®
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73.  Which one of the foiléwing programmes was launched on bctober 2, 2014?
V( Swachh Bharat Mission
(B) Beti Bachao Beti Padhao
(C) Atal Pension Yojana
(D) Deen Dayal Upadhyaya Grameen Kaushalya Yojana

Spésam_aupHle H&CLIUT 2, 20146 SiflpstiuBssriuL S b e1gI?
(A) seauFurrs b

B) Guilig uéGsr Cuiig LGsT

(C) @ie Quenger Cuirgerm

D) S gwrer e umgwmur HymSer Asersdwim GurgerT

74. The Chairman of the Rajya Sabha is elected by
(A) elected members of the Rajya Sabha
. (B) all members of the Rajya Sabha
W elected members of the Parliament
(D) all members of the Parliament

FTRW FenU SE@6UTT @euisaTTed Csih@sHaEsuu @S pmT
Q) Csipes@ssiiulL prRw smu e prianisdr
(B) rrRw semu SmaS 2 pubeniger

(©) CoipQs@ssiulL umpmEsoen e puderiset
D) ummEpLaTD SIS e pLILariTaeT

75.  In which schedule division of powers are enumerated?

(A)  9th schedule (B) 8th schedule
J@f 7 schedule (D) 12t schedule

‘S BITEEGLD, LTH ATESED AHETTL uks@ bhs S Lamarde GHUGL LU Herars?
(A)  Yeug SiLLcuenemt (B) 8eug i L cuemenT

(C) T7eug SiLLeuemenT (D) 12cug) i L cuanent

. | 27 » AOEGS/18
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76. Who passed a law permitting persons to inherit ancestral property even on changing
religion?

(A) Warren Hastings
(B)  Lord Dalhousie
(C) Lord Ripon
" Lord William Bentinck

OUO®LW wELMHDSADGL Garyd seaig apsraswui QsrsHod UBIEG e eTenp FUL Smss
Qarear(® eupgeurr wmir?

(A)  eumpen (ﬁgmduqrﬁ:do

B)  LoQaperd Gy

©  Aduer Qgy

D) efevedwid Quasrig s gy

77.  Who was the President of congress, at the time of Quit India movement?
(A) M.K. Gandhi (B) Nehru
& Abul Kalam Azad D) Gokhale

QeudrenemuiGer AeualiGLgy @uisssen Curg, @bdw Calw srisdyfler semaeui wri?
A) MK & : B) Cpm
©)  siyd somd <sns (D) CsrsGe

78.  Who was the seventh Nizam of Hyderabad?

" Mir Usman Ali (B) - Mirza Ismail
(©) Laik Ali (D) Musafar Ali

@angyrungdlen erpreug Hemd wmrr?
(A) O 2_evwmer 60 (B), firsr @eviomude
(C) Qauws el D) qpsmuir 26
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79. “Ever increasing state activities” is the law of
(A)  Pecola-Wiseman (B) P.A. Musgrave
(C) J.M. Keynes \W Adolph Wagner

“ sirélan Qeaayser s Ms86 Qananymédng” e alldaw auprIdlweurt
(A) QuCsrer-emeevCwer - (B) P.A. wevélCyeu

(C) J.M. Semev . D) LTl TS

80. The plan outlay for industrial sector during the first plan in India was

\M Rs. 55 crore (B) Rs. 550 crore
(C) Rs. 97 crore (D) Rs. 425 crore

@pdHwredar ppsamag S L sHo Asmfd sopédsen Qewiul L Qurés &S0
(A)  mumi 55 Camg. B) mumi 550 Camg.

(C) eyumi 97 Gamg (D) epumi 425 Csmg.

81. With reference to the World Bank estiméte, what is the share of service sector in total

employment in India during 2017?
A)  44% B) 25%

\39)/ 31% D) 33%

o @& cubidufen samsdl ey 20170 syemy e @bHwreiia o erar gL H GwTEs Qsmfemerisafic
argseman s5allfsib Gui Gsmaus giopuie FHULE cu(mElemmenii?

4)  44% B) 25%

(©) 31% (D) 33%

L 4 ; 29 AOEGS/18
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82.

83.

84.

In planning, the slogan of “Garibi Hatao” refers to

\M Removal of poverty (B) Economic growth

(C) Inequalities of Income and Wealth (D) Self attainment

P biBseile “anflQ CaplLres” arenp (pwés aimssn GHLGHais)
(A)  aupewew SsHHSE B) Qur@memgmy cueriéd

C)  eumwrer Qsdreu Caumuim® D) senflenpey Qupse

If x:y=5:2 then find 8x+9y:8x + 2y

A 22:29 - fB)e+26.:61

G 29:22 | (D) 61:26

x:y=5:2 erafledb 8x + 9y : 8x + 2y -3 smewr
A 22:29 (B) 26:61
©) - 29:22 D) 61:26

In a simultaneous throw of two dice, what is the probability of getting a total of 7

1 7
N = (-
7 1
©) 36 (D) z

Qe usemLmuwr @Gy Corsdle e mL B Curg s () Qgmrens 7 aumousnH o flw fspsse;

(A) (B)

©) D)

gls ot
R K-;I\’l
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85. If£:§=9thenfindA:B:C
S 2 T
(A) 4:3:5 B b5:4:3
W 3:4:5 D) 20:15:2
‘—4-=£=£Gréﬂch:B:Ca;naiw
i@ WG
(A) 4:3:5 B) 5:4:3
C 3:4:5 D) 20:15:2

GET IT ON
Google Play

86. The sum of two numbers is 45. Their difference is % of their sum. Their L.C.M. is

100 (B) 150

(C) 200 ' (D) 250

-Qm aarsaflan aml B CsTEs 45. el erammsatien G@gun@ Siaupder sl (S Asresuden

% wLksnEb arefld sduelm eransefiear 5 Oy

: (A) 100 B) 150
(C) 200 D) 250

87. If x% of a is the same as y% of b, then find 2% of b

@A) 2% ofa ®B) 2%ofa
Z X

(D) None of these

“a-en x% eranug) b-ar y% HG swib erefled b -am 2% smenr

@A)  a-ar 2% ®B) a-a L%
z X

©) .a-é1 2%

D) erga)bleena
5 :

. 31
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88.

89.

90.

Solve 14 x 627 + /1089 = % +141

A) 55
(C) 25

Siéa : 14 x 627 + /1089 = (?)° + 141

A) 545
(C) 25

GET IT ON
Google Play

B) (@125)°

" 5

B) (125)°
@) 5

What will be the remainder when (67%7 +67) is divisible by 68.

@ 1
7 66

(B) 63
(D) 67

(67% +67) 2yang 68 QD QUGULL M6 54 eremen?

A 1
(C) 66

® 63

(D) 67

" he greatest number which can divide 1354, 1866 and 2762 leaving the same remainder 10

in each case, is

64

© 156

B) 124
(D) 260

1354, 1866 wpmib 2762 yfw eraimaemar B8 10 Hlen_s@omy geuleuremmid @@ BLG L erair

(A) 64
(C) 156
AOEGS/18

(B) 124
(D) 260
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92.

93.

Mature sperms are stored here.
(A) Vas deferens

@( Seminal vesicle
(C) Epididymis

(D) Seminiferous tubules

awpdihs ebsaidaer @@ Callss) meudsILHEDS)
(A)  Gumé IgLIFeTen i
(B) Qsfered elfdlem

(C)  engiqudlen

(D) QasllaNGuren GQmuseT

Area of a triangle is

(A) base x height \;B( -lix base x height

(C) 2 x base x height ) % (base + height)
Wp&CamagSlen LFLILIETR]

(A) S@glussDd X 2 Wb B) :}E X SiigLILESHD X 2 WFD
(C) 2% gl IudED X 2 WIFLD (D) -%— (Sig LGS + 2. WD)

From the solid cube having side of 20 cm, how many number of small cubes having side 5 cm

can be formed? :
@) 46 \m/ 64

(C) 56 (D) 48

00 Q&8 Lss oemey Qe HL sar e5i7 2 HusSHAMH, TESMEn 5 Q&.18 uss SieTey Qamar Sn
Sl sen gg|THIE®ET 2_(HEUMESHOTLD?

(A) 46 (B) 64

(C) 56 (D) 48
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94.

The following circular graph shows the amounts that a family spends on food, clothing, rent,
miscellaneous expenditure and savings.

1?7e2rit Food
108°
Cloths —>Savings
722
Miscellaneous

72°

If the annual income of the family is Rs. 60000, then the savings are :
(A) Rs. 3000 V(D/ Rs. 6000
(C) Rs. 7500 (D) Rs. 9000

ECs GAI_LuL Rerar eul L eueFULLbTEg @ GHLUSHTT 2 amra), 2oL, ar os, @srs
Geeweys6T HmiD Cafliyse Qe Qalieuenss GO HEADg.

QUM_en& o awray
S 108°
2L ——> GaLblly

720 :
57 Dseaysar

72°

GObUSHen euL augporand m. 60000 eraflér @jauiaser Gafliy Asnens
(A) . 3000 (B) . 6000
©) e 7500 (D) em. 9000
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J.

Match correctly the following List 1 and List 2

(a)
(b)
(©)
(d)

A 1
R0 i

©)
D)

7)

List 1
Vanadium
Molubdenum
Chromium

Copper

(a) (b)
4

4 1

3 4

()

@

List 2

GET IT ON
Google Play

N2 and Oz Scavanger

Brass and Bronze

Radio valves and bulbs

Chrome plating

Spésam U igweseT 1 whgid 2 fumeasmarnd siwurst QUIHSSIS.

(a)
(b)
(©)
(d)

(A)
B)
©)
D)

uiguied 1
auCGarmg i
oredlig.emd
@&Cymilwid

mblyd

(a) (b)
1 4

()

(d)

U g e 2

1.

2.

N2 wpmid Oz padluns
Aggeen HOID Ceuamaaid
Crrig Guuir eurebey&aT m,r_bglu'i LIGL|&ET

GCmD APEMD LY &EE
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96.  Match the following.
Revolution Production
(a) Black Revolution 1. Prawns, Onions
(b) Grey Revolution 2. Cotton
(¢) Pink Revolution 3. Petroleum production
(d) Silver fibre Revolution 4. Fertilizers
(a) (b) (¢) (d)
A 1 2 3 4
®B) 4 2 1 3
wr 3 4 1 2
D) 3 4 2 1
QAurmses :
Y& 2 Hugd
(@) smuyyrd 1. @ureser, Qeukismun
(b) embue Yy & 2. umsd
(© sy 3. QuLGrrellw 2 Husd
(d) Qeusrefl LT ] 4. o gRiser
(a) ®) (o) (d)
A 1 2 3 4
B) 4 2 1 3
© 3 4 1 2
(D) 3 4 2 1
97. The dam which is known as Stanly reservoir is
* (A) Tehri (B) Kosi
(C)  Hirakud 7 Mettur
evL_rmeell BirGCasbaid CTEMMEMLPSSLILIBILD i6n 6T
(A)  Qrgnf (B) Casné
©€) aflyreL D) Cuwr @i
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98. Betatron is a device for accelerating
\K Electron (B) Neutron
(C) Proton (D) Meson

L m_mear @5@]536&)6“ WPHEGD G Smet

(A) &L iymen : (B) Hlupgmren
(C) yCymliLmes : (D) CGuweamer
99.  One of the four purposeful functions of mass communication is to
W inform (B) initiate
© instigate (D) irritate
Qeu@gen Qgmimder HrenE pa&lwu GP&Canenaafléd genm ——— 2 GLD.
A) obeilssa (B) Qsr_ru@se
©) grem( (D) afésgn Bz

100. Which of the following seismic waves has the shortest wavelength?

\M/‘ P-waves (B) S-waves

(C) L-waves (D) Pg-waves

SpssanL Ho sfTeumas@nd Wss GDDHS Den@Herd GlamaT g 6T8!7?
(A) P-gmeser (B) S- s

(C) L-oemasear (D) Pg-simaser
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GENERAL STUDIES

Time Allowed : 2 Hours] [Maximum Marks : 200
Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

The applicant will be supplied with Question Booklet 15 minutes before commencement of the examination.

2 This Question Booklet contains 100 questions. Prior to attempting to answer the candidates are requested
to check whether all the questions are there in series and ensure there are no blank pages in the question
booklet. In case any defect in the Question Paper is noticed it shall be reported to the Invigilator
within first 10 minutes and get it replaced with a complete Question Booklet. If any defect is
noticed in the Question Booklet after the commencement of examination it will not be replaced.

3. Answer all questions. All questions carry equal marks.

4. You must write your Register Number in the space provided on the top right side of this page. Do not

write anything else on the Question Booklet.

An answer sheet will be supplied to you, separately by the Room Invigilator to mark the answers.

You will also encode your Question Booklet Number with Blue or Black ink Ball point pen in the space

provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to encode the above

information, action will be taken as per commission’s notification.

Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct

response and mark in your Answer Sheet. In case you feel that there are more than one correct

response, mark the response which you consider the best. In any case, choose ONLY ONE response for

each question. Your total marks will depend on the number of correct responses marked. by you in the

Answer Sheet.

8., In the Answer Sheet there are four circles @), ®, © and (D against each question. To answer the

questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for

each question. Select one response for each question in the Question Booklet and mark in the Answer

Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g. If

for any item, ® is the correct answer, you have to mark as follows : ) -

@000

9. You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the time of

examination. After the examination is concluded. you must hand over vour Answer Sheet to the
Invigilator. are allowed to e the Question Booklet with you only afte amination is ove
10.  The sheet before the last page of the Question Booklet can be used for Rough Work.

11. Do not tick-mark or mark the answers in the Question Booklet.

12.  In all matters and in cases of doubt, the English version is final.

13.  Applicants have to write and shade the total number of answer fields left blank on the boxes provided
at side 2 of OMR Answer Sheet. An extra time of 5 minutes will be given to specify the number of
answer fields left blank. :

14. Failure to comply with any of the above instructions will render you liable to such action or penalty as
the Commission may decide at their discretion.
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